1

| Time: 35 Minutes | Paper Math 6 (T-1) |  Total Marks: 25

| 3rd Month, 4th Week, 5th Day | Revision Test (4th Week) |

Q.1. Choose the correct options. 1x10=10) - /.fl?"'lg,«lﬁw/;
(i) Which of the following is the symbol of equation?
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(@ + () - (©) / (@) =

(i) x+9=19is true for x = :‘Lyj,;gx = x+9=19
(a) 1 (b) 10 © 2 (d) 20

(iii) Mathematical world problems represent: H/4 Z.);;U;cfﬂlr(j/lf(}l)
(a) | sentence 42 | (b)| situation </l | (¢) | variable ﬁ‘:‘ (d) | constant J’V

(iv) The power of variable in a linear equation is always as:

:‘aaﬁéﬂcf’w(}//? A

(a) 1 (b) 2 () 3 @ 4
(v) In the expression 6x* the number 4 is: :4"_4;,@(}'56);4.1?.
(a) | constant ulu“/‘ (b) [exponent Ve § (c) | base J U1 (d) [coefficient /u’w

(vi) An equation shows that two mathematical expressions are:

Z‘at’/;;ll;/ Juﬁdlp’»:«bl/ug

(a) | unequal «L.L |(b)| equal 412 | (c) |less than equal to| (d) [greater than equal to|
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(vii) The exponent of variable in a linear equation is also know as:
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(a) | degree u’/i” (b) | base JU | (¢) |coefficient 514 | (d) constant J&~
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(viii) The value of variable which makes an equation true is known as:

Zgaquwj)olil/uszog uJ/.':’“"

solution of an

(a

-
=

algebra '}.' (b) arithmeticsdl? (c)| solutionofan |q

equation f¥ee bsls expression J¥&%

(ix) ax+b=0is an ‘eklax+b=10

(a) | algebraic equation el /,}.' (b) [ algebraic expression =4 u’/g'

(c) | arithmetic equation &’)VL}V (d) [ arithmetic expression ,L?L}l/’

(x) 4x+5is an: ‘e fldx +5

(a) | algebraic equation e lsleld }.' (b) | algebraic expression =4 u’}-'

(¢) | arithmetic equation :J:L/‘QP (d) | arithmetic expression JZQP

2Ly f5Tn

3 2
(i) Solve: 9x + 0 Y7 Q/U’

Q.2. Answer the following questions: (4x2=8)

(ii) When a number is added to 4 times of itself, the result is 65. Find the

number.
gk b Po6ST B 4L w5
(iii) Abdullah is two more than 3 times as old as Yaseen. If the sum of both

of their ages is 60 years. How old is Abdullah?

S In 60 o Kus U a2 3 L A S

(iv) Solve: 4(x-5)-8(3x-5)=4(x+1)-2 QJU'
Q.3. A number is divided into two parts, such that one part is 40 more than
other. If the two parts are in the ratio 2:3, fine the number. (1x4=4)
o c»*’d/ 2:3)’,«6’»/(7.:13).@)40:_; /»,.A’-.ﬁf LAY I# ?Llp“lffnjr ULl
-Q/r%x?u‘n
Q.4. Solve: (1x3=3) g AS

Sy+ 1 -2y
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